LOSA1741 Rear Shock Tower, V2:8T 2.0 LOSA6140 8IGHT Screw/Nut Asst Box
LOSA1746 Rear Outer Pin Brace 3T/2A LOSA6504 Hinge Pins 4 x21mm, Titanium (4) 8B, 8T Zm i
LOSA1747 Rear Outer Pin Brace 2T/2A  LOSA6531 Turnbuckle Kit, Titanium: 8T 2.0 tﬂﬁ L U—J Jl_,:) hjl_’:ﬂﬁﬁ L el
LOSA1748 Rear Outer Hinge Pin Brace 2T/3A  LOSA6929 8IGHT/T Bearing Box w/Bearings TERAM LOSI ARCING
LOSA1749 Rear Outer Pin Brace 3T/3A LOSA6954 5x10mm HD Clutch Bearings
LOSA1754 Adj Fr Hinge Pin Brace/Inserts: 88/8T/2.0 LOSA6955 5x13mm HD Clutch Bearings |Name: | |Date: Event: |
LOSA1755 Adj R Hinge Pin Brace w/Inserts: 8B/8T/2.0 LOSA7746 Truggy Wheels, 0 Offset, White (8T 2.0) |City' State: | |Track' |
LOSA3516 Center Diff 48T Spur Gear ~ LOSA7880 Losi Tire Glue, Std : . =
LOSA3517 Center Diff 47T Spur Gear LOSA7881 Losi Tire Glue, Thin Track Olndoor QO Tight QSmooth O Hard Packed QBlue Groove QWet QO Low Bite O High Bite
LOSA3532 Wheel Hexes (4) + 2mm Wider: 8B, 8T  LOSA7884 Losi Off-Road Tire Gluing Kit Conditions O Outdoor O Open QO Rough Q1 Loose/Loamy O Dry QDusty O MedBite Q Other
LOSA3533 Wheel Hexes (4)+1{2”Wlder: 8B,8T  LOSA8131 8IGHT ng, Whlte: 8.B, 8T,2.0 Ackerman Bump Steer
LOSA3538 ... Covered 17mm Wheel Nuts, Aluminum: 8B/8T 2.0 LOSA8132 1/8 Universal Wing Kit, Yellow
LOSA3538B ..... Covered 17mm Wheel Nuts, Aluminum, Blue: 88/8T2.0  LOSA9100 8IGHT/T ClutchRebuild/Service Bx Toe: Front: Qswndard O smart
LOSA3538BL ........... Covered 17mm Wheel Nuts, AIumin.um, Black: 8B/8T2.0  LOSA9102 Flywhl & Collet, SFeeI, 4 Shoe: 8B, 8T Ride Height: Spring Wire Dia:
LOSA3538R ....ccovevunee Covered 17mm Wheel Nuts, Aluminum, Red: 8B/8T 2.0 LOSA9109 Long Wear Aluminum Clutch Shoes
LOSA3553 Fr/R HD Lightendd Outdrive Set (2): 8B, 8T LOSA9112 Clutch Springs - Black (.036" 25 Deg) Camber: Qty of Springs:
LOSA3554 Center HD Lightened Diff Outdrives (2 LOSA9115 Clutch Springs - Silver (.040” 30 Deg)
LOSA3555 Center Diff 50T Spur Gear, Lightweight ~ LOSA9118 Clutch Bell 15T Caster: Ramp Plate:
LOSA3556 Center Diff 48T Spur Gear, Lightweight LOSA9119 Clutch Bell 16T . .
LOSA3588 Front Center Universal Driveshaft:8T2.0 ~ LOSA9120 Clutch Bell 12T Sway Bar. Grease:
LOSA3602 Front SmartDiff: 8T2.0  LOSA9127 High Endurance Clutch Bell 14T Piston/Qil: Diff Fluid:
LOSA3603 Center SmartDiff: 8T 2.0 LOSA9155 Quick Change Engine Mnt Set: 8B, 8T, 2.0 .
LOSA4416 Aluminum Front Chassis Brace LOSA9156 Quick Change Engine Mnt Only: 8B, 8T, 2.0 Spring:
LOSA4417 Aluminum Rear Chassis Brace ~ LOSA9164 EFRA Fuel Tank Kit: 2.0 Limiter/Droop: Center: Qswandard  Q smart
LOSA4440 Front Top Brace, Aluminum: 8B, 8T, 2.0 LOSA9314 Ultra Fuel Tubing, 5’
LOSA4441 Servo Saver Top, Aluminum ~ LOSA99030 Servo Arm, Aluminum: JR Overall Shock Length: Spring Wire Dia:
LOSA4444 .....vvercrrrranns Split Center Diff Mount, Alumin.um: 8B/8T2.0  LOSA99031 Servo Arm, AIuminum: KO/AIR Steering Ackerman: Qty of Springs:
LOSA4454 Al. Rear Gearbox Bearing Inserts 2.0 LOSA99032 Servo Arm, Aluminum: FUT
LOSA5240 Shock Oil 6 Pack,20,25,30,35,40,45Wt  LOSA99033 Servo Arm, Aluminum: Hitec Bump Steer: Ramp Plate:
LOSA5242 Shock Oil 6 PK,17.5,22.5,27.5,32.5,37.5, 42.5 LOSA99061 8IGHT/8IGHT-T Starter Box ..
LOSA5277 Silicone Fluid, 1000cs ~ LOSA99070 Speed-Shot Fuel Gun Camber Link: Grease:
LOSA5278 Silicone Fluid, 2000cs ~ LOSA99104 Losi Race Wrench: US 4pc Set Shock Location: Diff Fluid:
LOSA5279 Silicone Fluid, 3000cs ~ LOSA99150 Losi Nutdriver: US 4pc Set .
LOSA5280 Silicone Fluid, 5000cs ~ LOSA99167 Losi Tuning Screw Driver Receiver Battery Type:
LOSA5281 Silicone Fluid, 7000cs LOSA99171 Temp Tuner
LOSA5282 Silicone Fluid, 10,000cs LOSA99172 Camber Gauge
LOSA5283 Silicone Fluid, 15,000cs ~ LOSA99173 Ride Height Gauge
LOSA5284 Silicone Fluid, 20,000cs LOSA99174 Car Stand: 8IGHT/T =AM LOSI ARCING
LOSA5285 Silicone Fluid, 30,000cs ~ LOSA99202 Losi-Lok Thread Lock, Blue Toe:
LOSA5286 Silicone Fluid, 50,000cs ~ LOSB3528 Heavy Duty Diff Case Anti-Squat:
LOSA5418 Shock Service Parts & Box: 8B, 8T LOSB4604 17mm Wheel Wrench ) . = -
LOSA5422 15mm Shock Cap Tops, Vented (2) ~ LOSB5007 Fuel Tank Lid Pull: T2.0  |Ride Height: 8 I G HT-T 2 . O EX p I (@) d ed \VJ ew an d PartS LI St
LOSA5431 Foam Compensator, Bladder (4) LOSB5012 ..vvvrrrerrrerns Fuel Tank Lid Pull, Fluorescent Yellow: 8T 2.0 Camber:
LOSA5439 Shock Stand-Off Set Titanium (4) 8B, 8T LOSB5201 Losi Fuel Bottle, 500cc Rear Hub Spacing: ) ) o
LOSA5447 Rear Spring Set (7): 8B/8T LOSB5221 Alum Glow Driver w/NiCd & Charger : LOSA1701 Front Suspension Arm Bushings LOSA3525 Center CV Rebuild Kit - (8)(8T)
LOSA5456 15mm Springs 3.1 x 2.5” Rate Red LOSB9820 7.4V 2000mAh 2C LiPo Rx Pack,1/8 Sway Bar: LOSA1704 Front Suspension Arm Set: 8T 2.0 LOSA3528 Center Front CV Driveshaft Assy (8T)
LOSA5457 15mm Springs 3.1 x 2.8" Rate Silver ~ LOSB9603 1-3 Cell LiPo Charger Piston/Oil: Outside LOSA1705 Front Arm Bushing: 8T 2.0 ~ LOSA3530 Wheel Hexes(pr) Hard Anodized
LOSA5458 15mm Springs 3.1 x 3.1”Rate Green ~ LOSB9605 LiPo Balance Charger, 1-5 Cells . Middle LOSA1707 Front Spindles  LOSA3531 Wheel Nuts & Pins - 4 ea
LOSA5459 15mm Springs 3.1 x 3.4"Rate Black ~ LOSB9608 High Output LiPo Regulator w/Switch Spring: LOSA1709 Front Spindle Carriers  LOSA3537 Grease Boot
LOSA5460 15mm Springs 3.7 x 3.7" Rate White  LOSB9609 High Output LiPo Regulatorw/oSwitch Limiter/Droop: ::8321 ;;é o Front S_hOCK Tov;/e:: 21 ;g ::8222;“5‘ : E"TDk_e an': 52‘3(';
i " . ear Suspension Arm Set: . rake Disc Set; 2.
LOSA462 15mm Springs 3.7 x 43" Rate Purple Overall Shock Length: LOSA1731 Rear Hub Carriers: 2.0 LOSA3546 Brake Pads & Screws (2.0
Camber Link: LOSA1740 Rear Shock Tower: 8T 2.0 ~ LOSA3585 F/R CV Driveshaft Set (2) (8T 2.0)
Shock Location: LOSA1743 Rear Outer Pin Barce, 3.5T/3A: 8T 2.0 LOSA3586 F/R CV Driveshafts (2) (8T 2.0)
LOSA1744 Front Hinge Pin Brace Set- AL~ LOSA3590 Center Rear CV Driveshaft Assembly (8T 2.0)
Rear Diff Fluid: LOSA1745 Rear Inner Hinge Pin Brace ~ LOSA4002 Antenna Kit
m Notes: LOSA1750 Sway Bar Set LOSA4003 Antenna Caps
LOSA1751 Sway Bar Set:2.0 ~ LOSA4405 Main Chassis TFT +14mm: (8T 2.0)
Engine: Fuel: LOSA3500 Diff Housing F/R/C LOSA4406.....cccurerrerererrnceerennns Steering Bellcrank Plastic and Servo Saver 2.0
. . LOSA3501 Diff Shims, 6x11x.2mm LOSA4408 Steering Post Set
G_low Plug: Head_ Clearance: LOSA3502 Differential Gear & Shaft Set LOSA4412 Steering Rack Set Short/Long & Hdw (2.0)
Pipe/Header: Gearing: LOSA3503 F/R H.D. Diff Outdrive Cups &Pins ~ LOSA4413 Front Chassis Brace Set
Clutch ; T Insert LOSA3505 Diff Seal Set ~ LOSA4414 Rear Chassis Brace
Clutch Shoes and Springs Info ype Compound LOSA3506 Center Diff Outdrive Cups & Pins LOSA4419 Switch Cover
/ ) Front: LOSA3507 F/R Diff Pinion Gear (10T) LOSA4420 Center Diff Mount & Brace (2.0)
Rear: LOSA3511 Front Diff Ring Gear (43T) LOSA4421 Radio Tray and Mounts (2.0)
’ LOSA3512 Rear Diff Ring Gear (43T) LOSA4422 Front Bumper, Tank & Filter Guard
Notes: LOSA3513 Rear Ring Gear, 43T/10T Pinion Set LOSA4424 Tank Mounts
LOSA3514 F/R Diff Pinion Couplers LOSA4427 Front Gearbox Set
LOSA3515 Center Diff 50T Spur Gear LOSA4431 Hinge Pin Brace Cover Set
LOSA3518 Drive Pin Set ~ LOSA4433 Body Mount Set (8T 2.0)
LOSA3522 F/R CV Driveshaft Axles - (2) LOSA4435 Wing Mount Set
#800-0383.1 LOSA3523 F/R CV Driveshaft Coupling Set-(2) ~ LOSA4438 Chassis Guard Set (8T 2.0)

T=RAM LOSI ARCING

Printed 01/2011

© 2011 Horizon Hobby, Inc. Team Losi, 8IGHT, XBT, Nitrotec, TLR logo and Losi-Lok are trademarks or registered trademarks of Horizon Hobby, Inc.

14917.2



Front Differential

R A3502
8 '\—@% A3502
é}——Assoz

A3500

- A6948
A3518
LD e A1750

A3503
A1750

A3501 A5435

Rear Gearbox Set

RN NN

.0
.0
.0
.0

15mm Shock Body 50.5mm

15mm Shock Body, 58.5mm

15mm Shock Shaft 4x57mm

15mm Shock Tool Set

2
2

15mm Shock Boot Set - (4

Shock O-ring Set

15mm Shock Bladders - (4)

Shock Stand Offs

HD Rod Ends & Balls

4mm Rod End Set

5mm Rod End Set

Suspension Balls 8.8mm

Steering Ball Set 6.8mm

LOSA4450 2
LOSA4451 Rear Gearbox Locking Inserts (2
LOSA4452 Rear Gearbox Shims (2
LOSA4453 Chassis Spacer/Cap Set (2
LOSA5403

LOSA5405

LOSA5413

LOSA5415 15mm Shock Shaft, 4x67.15mm
LOSA5419

LOSA5420 15mm Shock Caps Top - (2)
LOSA5421 15mm Shock Caps Bottom - (2)
LOSA5424 15mm Shock Adjuster Nuts - (4)
LOSA5426 )
LOSA5427 15mm Shock Boot Set (8T 2.0 Rear Only)
LOSA5429

LOSA5430

LOSA5435 15mm Shock Ends, Cups & Bushings(2)
LOSA5438

LOSA5440 15mm Shock Piston & Guide Set - (2)
LOSA5459 15mm Springs 3.1 x 3.4” Rate Black
LOSA5461 15mm Springs 3.1 x 4.0” Rate Gray
LOSA6044

LOSA6046

LOSA6047

LOSA6048 Suspension Balls 8.8mm Flanged
LOSA6049

LOSA6050

LOSA6057 Inserts, Camber Stand Offs (2.0)
LOSA6109

5mm E-Clips

LOSA6204
LOSA6206
LOSA6215
LOSA6221
LOSA6227
LOSA6228
LOSA6232
LOSA6240
LOSA6253
LOSA6254
LOSA6255
LOSA6256
LOSA6262
LOSA6263
LOSA6264
LOSA6266
LOSA6270
LOSA6271
LOSA6272
LOSA6273
LOSA6274
LOSA6275
LOSA6277
LOSA6278
LOSA6279
LOSA6280
LOSA6282
LOSA6295
LOSA6296

Front Shock

A5420
A5430

——A6255
@)—A5440

A5413

@ A5424
A5424

5459

A5435

@,/A5435

Q0 A5435

4-40 x 1/2" Caphead Screws (10)

4-40 x 3/8" Caphead Screws (10)
#4 Narrow Washers

4-40 x 5/8" Caphead Screws (10)

4-40 Hardened Setscrews

5-40 Hardened Setscrews

2-56 x 1/4" Caphead Screws (10
5-40 x 1/2" Caphead Screws (10

4-40 x 40mm Droop Screw

2-56 x 1/2" Caphead Screws
2-56 x 1/4" Button Head Screws

4-40 x 1/2" Button Head Screws

8-32 x 1/2" Flat Head Screws
8-32 x 3/4" Button Head Screws

8-32 x 3/8" Flat Head Screws

8-32 x 5/8 Button Head Screws

5-40 x 3/8" Flat Head Screws

5-40 x 1/2" Flat Head Screws

P

5-40 x 3/4" Flat Head Screws

5-40 x 7/8" Flat Head Screws (4

5-40 x 1" Flat Head Screws (2
5-40 x 5/8" Flat Head Screws (10

5-40 x 3/8" Button Head Screws

5-40 x 1/2" Button Head Screws
5-40 x 3/4" Button Head Screws

5-40 x 7/8" Button Head Screws

10-32 x 3/8" Oval Point Setscrews

(
(
(
5-40 x 1" Button Head Screws (4
(
(
8-32 x 1/8" Flat Point Setscrews (

A3506

Center Differential

A6264
A6264 g
A6271 ~§8
&

SSK

A6270 —_§,

A6271
L8 p6264

A6262

Rear Shock

A5415

A5424
A5424

A5461

A5435

A5435
A5435\\®§

LOSA6297

Rear Differential

5-40 x 1/8" Flat Point Setscrews (

LOSA6298

LOSA6299

8)
8-32 x 1/8" Cup Point Setscrews (8)
5-40 x 1/8” Cup Point Setscrews (8)

LOSA6302

5-40 Lock Nuts - Steel

LOSA6306

4-40 Aluminum Mini Nuts (10)

LOSA6311

8-32 Steel Lock Nuts (10)

LOSA6350
LOSA6351

#4 and 1/8"Hardened Washers
#8 Countersink Washers (8)

LOSA6356

Shim Set, Metric 5mm/6mm

LOSA6500

Hinge Pins 4 x 66mm TiN (2)

LOSA6501

Hinge Pins 4 x 21Tmm TiN (2)

LOSA6502

LOSA6503

Hinge Pin Studs (2)
Outer Hing Pins, 3.5mm (2.0)

LOSA6537

Turnbuckles 3mm x 45mm w/Ends

LOSA6545

LOSA6546

Turnbuckles, 5x115mm w/Ends
Turnbuckles, 5x107mm w/Ends

LOSA6547

Turnbuckles, 4x114mm w/Ends

LOSA6945
LOSA6946

8x14x4 Rubber Sealed BB (4)
6x10x3 Rubber Sealed BB.(4)

LOSA6947

5x11x4 Rubber Sealed BB.(4)

LOSA6948

8x14x4 Flanged Rubber Sealed BB (4)

LOSA6949

Clutch Bearing Set

LOSA6953

1/2"x 3/4" Sealed BB

LOSA7747

LOSA8094

Truggy Wheels, 0 Offest, Yellow (8T 2.0)
8IGHT-T 2.0 Body w/Masks & Stickers

LOSA8130

LOSA8200

8IGHT Wing-Black
Body Clips (12)

LOSA8301

TL Bubble Nameplates (4)

LOSA8376
TLR8300

8IGHT-T 2.0 Logo Sticker Sheet
TLR Decal Sheet

A6945

jA35 18

LOSA9103 Clutch Nut & Hardware - 4 Shoe
LOSA9105 Flywheel & Collet, Aluminum (2.0)
LOSA9106 Clutch Pins & Hardware (2.0)
LOSA9107 Clutch Shoes - 2 Composite
LOSA9108 Clutch Shoes - 4 Aluminum
LOSA9113 Clutch Springs - Green (.036” 30 Deqg)
LOSA9114 Clutch Springs - Gold (.040” 25 Deg)
LOSA9126 High Endurance 13T Clutch Bell (2.0)
LOSA9150 Air Filter Set
LOSA9151 Air Filter Foams Pre-oiled 4 ea
LOSA9154 Engine Mount Set
LOSA9158 Fuel Tank (8T 2.0)
LOSA9163 Fuel Tank Cap, Spring & Seal
LOSA9165 Tuned Pipe Mount & Hardware
LOSA9168 Throttle/Brake Link Set (2.0)
LOSA9313 Fuel Tank Mounting Set
LOSA9316 Fuel Line Clips
LOSB5007 Fuel Tank Lid Pull: 8 T 2.0
LOSA99040 .....ccovvvvevuucirnecs Metal Servo Arm Insert, 23S Spline, Airtronics (2)
LOSA99041 Metal Servo Arm Insert, 23 Spline, JR (2)
LOSA99042 Metal Servo Arm Insert, 24 Spline, Hitec (2)
LOSA99043 ......oeveereeererrnarecenne Metal Servo Arm Insert, 25 Spline, Futaba (2)
Option Parts
LOSA1708 Aluminum Front Spindles
LOSA1711 Aluminum Front Spindle Carriers
LOSA1728 Aluminum Inclined King Pin Spindle/12 Carrier Set
LOSA1729 Aluminum Inclined King Pin Spindle
LOSA1732 Rr Hub Carriers, Aluminum: 2.0
LOSA1733 Aluminum Inclined King Pin Spindle Carrier, 12 degree

LOSA1734 ...

... Aluminum Inclined King Pin Spindle Carrier, 10 degree



